“FAMILY RESEMBLANCE” 



Name ______________________________

Chem 332 – O’Dette





Period ________  Date ________________
Can you place these elements in their proper positions on the Periodic Table without knowing their identity?  Instead of the usual chemical symbol, each element is represented by a code letter, and some clues to the element’s identity are listed below.  In addition, the elements fall into these families or groups:

JKQ, WNVG, IAL, EPFZ, YBR, ODS, CXU, THM

Place each code letter in its proper space in the table below.
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W
is an noble gas.

P
is an alkali metal.

X
is a halogen.

D
is an element that needs three electrons to  

      become stable.

K
is an atom that readily yields a 2+ ion.

M
is an element found in the group to the right          

       of S.

B
would probably form a 3+ ion.

A
has six protons in its nucleus.

R
has an atomic number one less than A.

O
has an atomic number one more than A.

S
has 18 more protons in its nucleus than has D.

F
has only one proton in each atom.

Y
has atoms that are larger than the atoms of B.

 I
has the largest atomic number in its group.


T
is found in the fourth period (or row).

C
has atoms that are larger than those of U, 
       but smaller than those of X.

V
has one more proton in its nucleus than U.

H
has the smallest atomic number in its     

       group.

G
has two protons in each atom.

N
is a third period element.

J
is a second period element.

Q
has an atomic mass greater than that of J  

       and less than that of K.

E
has an atomic number less than that of Z but 
      greater than that of P.
Z
has more protons than other elements in its 
      group.

U
is found in the second period.


[Wolfgram, D. (1987, December). ChemMatters, p. 16.]
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